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J/y—>A+B Angular Momentum

J/ — p(770) + 1707 (mn") LS = 01 21
J/b — p(770) + 1727 (mn') LS =01 21 22 23 43
J/b — p(770) + 1747 (mn") LS = 23 43 44
J/b — p(770) + 1717 (mn') LS =10 11 12 32
J/p-n+A Angular Momentum Angular Momentum
J/¥ - n' + 071" (nm) LS =01 21 01t~ - p(770) + 7 LS =01 21
J/Y - n' + 01" (nrn) LS =11 071"~ - p(770) + LS =11
J/Y - n'+ 0737 () LS =33 0737~ = p(770) + 1 LS =31
J/ -+ A Angular Momentum Angular Momentum
J/Y -+ 171 (mmn") LS =01 21 1t1t~ > p(770) + 71’ LS =01 21
J/Y -+ 1717 (nmn") LS =11 117 - p(770) + 71’ LS =11

J/Y >+ 1737 (nnn") LS =33 1t377 5 p(770) + 71’ LS =31
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JH = 2 AUH Fur. Phys. J. A 16, 537-547 (2003)
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